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 Direction (1-5): Study the following 

information carefully and answer the 

questions given below. 

 Eight friends named- M, N, O, P, Q, 

R, S and T begun a startup and invest 

different amount of money also 

sitting in a circle for meeting, facing 

the centre. Their amounts were viz— 

Rs. 71000, Rs. 81000, Rs. 84000, Rs. 

86000, Rs. 88000, Rs. 91000, Rs. 

93000 and Rs. 96000, but not 

necessarily in the same order. M and 

N sit opposite each other and N’s 

investment is more than only O who 

is not an immediate neighbour of M. 

N is an immediate neighbour of R and 

P. The one whose investment is 

highest sits opposite T. M’s 

investment is Rs. 88000. R, whose 

investment is just less than M, is 

fourth to the right of Q who is third to 

the left of O. T’s investment is less 

than only P. Q’s investment is less 

than only two persons. 

1.  Who among the following sits second 

to left of T? 

 A. S B. M 

C. O D. Q 

E. None of these 

2. How many persons investment is 

more than M? 

 A. Two 

B. Three 

C. One 

D. Can’t be determined 

E. None of these 

3. Who sits exactly between Q and P? 

 A. The one whose investment is 

more than M 

B. The one whose investment is Rs. 

84000 

C. The one whose investment is less 

than only Q 

D. The one whose investment is Rs. 

91000 

E. None of these 

4. Who among the following sits third to 

the right of R? 

 A. S B. O 

C. M D. P 

E. None of these 

5. Who among the following investment 

is/are less than S? 

 A. Only N and R 

B. Only N and M 

C. Only T, Q and N 

D. Only R 

E. None of these 

 

 Direction (6-10): Read the 

information carefully and give the 

answer of the following questions. 

 K, L, M, P, Q, R, S and T are sitting 

around a square table in such a way 

that four of them sit at four corners 

of the square while four sit in the 

middle of each of the four sides. The 

ones who sit at the four corners face 

outside while those who sit in the 

middle of the sides face the Centre of 

the table. 

 P sits third to the right of S. S faces 

the Centre. Q sits third to the left of 

M. M does not sit in the middle of the 

sides. Only one person sits between 

Q and R. R is not an immediate 

neighbor of M. T faces the Centre. K 

is not an immediate neighbor of R.  

6.  What is the position of M with respect 

to L? 

 A. Third to the right. 

B. M and L sit diagonally opposite to 

each other. 

C. Second to the right. 

D. Second to the left. 

E. Fifth to the right. 

7. Who sits exactly between Q and R? 

 A. T B. P 

C. K D. S 

E. S and K 

8. Which of the following pairs 

represent the persons seated in the 

middle of the sides who face each 

other? 

 A. S and Q B. K and L 

C. M and P D. R and T 

E. T and Q 

9. Who among the following sits 

between R and K when counted in 

anticlockwise direction from K? 

 A. No one sits between R and K as R 

and K are immediate neighbors of 

each other. 

B. S, P and L. C. P and Q. 

D. L and R. E. M, S and T. 
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10. If K is made to face the opposite 

direction, who would sit to his 

immediate right? 

 A. R B. Q 

C. P D. T 

E. S 

11. What is the position of M with respect 

to L? 

 A. Third to the right. 

B. M and L sit diagonally opposite to 

each other. 

C. Second to the right. 

D. Second to the left. 

E. Fifth to the right. 

12. Who sits exactly between Q and R? 

 A. T B. P 

C. K D. S 

E. S and K 

13. Which of the following pairs 

represent the persons seated in the 

middle of the sides who face each 

other? 

 A. S and Q B. K and L 

C. M and P D. R and T 

E. T and Q 

14. Who among the following sits 

between R and K when counted in 

anticlockwise direction from K? 

 A. No one sits between R and K as R 

and K are immediate neighbors of 

each other. 

B. S, P and L. C. P and Q. 

D. L and R. E. M, S and T. 

15. If K is made to face the opposite 

direction, who would sit to his 

immediate right? 

 A. R B. Q 

C. P D. T 

E. S 
 

 Directions (16-20): Study the 

following information carefully and 

answer the questions given below: 

 A, B, C, D, E, F and G like seven 

different colors viz, Black, White, 

Green, Yellow, Red, Blue and Pink, 

they also like to watch different 

sports viz, Badminton, Cricket, 

Football, Tennis, Golf, Hockey and 

Kabaddi but not necessarily in the 

same order. F likes Green he does not 

like to watch either Football or 

Tennis. The one who likes to watch 

Badminton likes White. A likes to 

watch Cricket, but his favourite color 

is neither Yellow nor Blue. The one 

who likes to watch Kabaddi likes Pink. 

B’s favourite color is Red but he does 

not like to watch Tennis. The one who 

likes to watch Tennis does not like 

Blue. D likes to watch Golf. White is 

not favourite color of G. G and E do 

not like to watch Tennis.  

16.  Which of the following color is E’s 

favourite? 

 A. Green B. Blue 

C. Pink D. White 

E. None of these 

17. B likes to watch which of the 

following sports? 

 A. Cricket B. Golf 

C. Football D. Tennis 

E. None of these 

18. Who among the following likes to 

watch Hockey? 

 A. A B. E 

C. D D. F 

E. None of these 

19. The one who likes to watch Cricket 

likes which of the following colors? 

 A. Black B. Green 

C. Red D. Blue 

E. None of these 

20. The one whose favourite color is 

Yellow likes which of the following 

sports? 

 A. Tennis B. Cricket 

C. Badminton D. Golf 

E. None of these 
 

 Direction (21-25): Study the 

following information to answer the 

given questions: 

 Twelve players are sitting in two 

parallel rows containing six players 

each in such a way that there is an 

equal distance between adjacent 

players. In row 1, Ashwin, 

Bhubhneshwar, Chandrapaul, Dhoni, 

Eshan and Flintoff are sitting and all 

of them are facing South. In row 2, 

Piyush, Qureshi, Rohit, Sehwag, 

Tahir and Virat are sitting and all of 

them are facing North. Therefore, in 

the given seating arrangement, each 

member of a row faces another 

member of the other row. 

Virat sits third to the right of Sehwag. 
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Sehwag faces Flintoff and Flintoff 

does not sit at any of the extreme 

ends of the lines. Dhoni sits third to 

the right of Chandrapaul. Rohit faces 

Eshan. The one facing Eshan sits 

third to the right of Piyush. 

Bhubhneshwar and Piyush do not sit 

at the extreme ends of the lines. 

Tahir is not an immediate neighbour 

of Sehwag and Flintoff is not an 

immediate neighbour of Dhoni.  

21.  Who among the following faces 

Dhoni? 

 A. Tahir B. Piyush 

C. Qureshi D. Rohit 

E. None of these 

22. Who among the following represent 

the persons sitting at extreme ends 

of the rows? 

 A. Rohit, Flintoff 

B. Tahir, Ashwin 

C. Dhoni, Rohit 

D. Chandrapaul, Qureshi 

E. Sehwag, Ashwin 

23. Four of the following five are alike in 

a certain way and thus form a group. 

Which is the one that does not belong 

to that group? 

 A. Bhubhneshwar, Tahir 

B. Ashiwn, Qureshi 

C. Chandapaul, Sehwag 

D. Flintoff, Piyush 

E. Eshan, Qureshi 

24. Four of the following five are alike in 

a certain way and thus form a group. 

Which is the one that does not belong 

to that group? 

 A. Dhoni B. Sehwag 

C. Virat D. Tahir 

E. Ashwin 

25. How many persons are seated 

between Rohit and Tahir? 

 A. One B. Two 

C. Three D. Four 

E. None 
 

 Direction (26-30): Study the 

information given below and answer 

the questions based on it. 

 A, B, C, D, E, F, G and H are eight 

students of a school. They study in 

standards VI, VII, and VIII with not 

more than three in any standard. 

Each of them has a favorite subject 

from Physics, Geography, English, 

Marathi, Mathematics, Chemistry, 

Biology and Economics but not 

necessarily in the same order. 

 D likes Chemistry and studies in 

standard VIII with only H. B does not 

study in standard VII. E and A study 

in the same standard but not with B. 

C and F study in the same standard. 

Those who study in standard VI do 

not like Mathematics or Biology. F 

likes Physics. The one who studies in 

standard VIII likes English. C does 

not like Geography. A's favorite 

subject is Marathi and G does not like 

Biology. 

26.  Which of the following groups of 

students studied in VII standard? 

 A. DHA B. EAG 

C. BCF D. ABC 

E. Cannot be determined 

27. Which of the following combinations 

of student-standard-subject is 

correct? 

 A. D-VIII-Biology 

B. A-VI-Marathi 

C. G-VII-Math 

D. F-VIII-Economics 

E. None of these 

28. What is C’s favorite subject? 

 A. Chemistry B. English 

C. Biology D. Economics 

E. Geography 

29. In which standard does C study? 

 A. VI 

B. VII 

C. VIII 

D. Either VI or VIII 

E. None of these 

30. Which subject does H like? 

 A. Marathi B. Physics 

C. English D. Geography 

E. None of these 

 

 Direction (31-35): Study the 

following information carefully to 

answer the given questions. 

 Eight employee Q, R, S, T, W, X, Y 

and Z of the multinational company 

(MNC) will have to attend the 

meeting in the months of August and 

December but not necessarily in the 
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same order. In each month, the 

meeting will conduct on dates 21st, 

23th, 27th and 31st of the given 

month. Only one person will attend 

the meeting on these given dates. 

 Q will attend the meeting on either 

27th August or 27th December. 

There is only one person will attend 

the meeting between Q and T. There 

are two persons will attend the 

meeting between the T and R. There 

is one person will attend the meeting 

between the R and S. S will attend 

the meeting on 23th of any month 

either December or August. Only one 

person will attend the meeting 

between S and W. There are as many 

as the person will attend the meeting 

between W and Y as between Y and 

Z. X will not attend the meeting on 

the 21st of August. 

31.  Who among following will attend the 

meeting on 27th August? 

 A. Z B. Q 

C. R D. Y 

E. S 

32. How many persons will attend the 

meeting between R and W? 

 A. One 

B. Two 

C. Three 

D. More than three 

E. None of these 

33. Who among following will attend the 

meeting on 31st December? 

 A. R B. Y 

C. S D. X 

E. W 

34. If T is related to Q and R is related to 

S, in the same way Y is related to? 

 A. X B. Y 

C. S D. R 

E. W 

35. X will attend the meeting on which of 

the following dates? 

 A. 27th December B. 31st December 

C. 27th august D. 31st august 

E. None of these 

 

 Direction (36-40): Study the 

following information carefully and 

answer the questions. 

 Eight friends Tina, Uday, Vishal, Ajay, 

Mihir, Rishit, Jyoti and Brijesh. They 

belong to eight different cities, viz 

Jaipur, Nainital, Chandigarh, Kolkata, 

Lucknow, Raipur, Dehradun and 

Kanpur. They all like four different 

flavours of ice-cream, viz Chocolate, 

Pista, Kesar and Pineapple. At least 

one person likes one flavour but not 

more than two like the same flavour. 

Rishit belongs to Chandigarh who 

likes Kesar flavour. The one who 

belongs to Kolkata does not like 

Chocolate. Ajay likes Pineapple. Mihir 

likes Pineapple and belongs to 

Dehradun. Vishal likes Pista and Jyoti 

does not belong to Dehradun. The 

one who belongs to Kolkata likes the 

ice-cream which is liked by the one 

who belongs to Jaipur. The one who 

belongs to Lucknow likes Pineapple. 

Tina likes Chocolate. Uday belongs 

neither to Nanital nor to Jaipur. The 

one who belongs to Raipur likes 

Chocolate. The one who belongs to 

Nanital likes the same Ice-cream 

which is liked by Tina. Vishal neither 

belongs to Lucknow nor Jaipur. 

Brijesh likes Chocolate. Uday neither 

belongs to Kolkata nor Jaipur. Jyoti 

neither belongs to Kolkata nor 

Kanpur. 

36.  Uday likes which of the following 

flavours of ice-cream? 

 A. Chocolate 

B. Pista 

C. Pineapple 

D. Either Pista or Chocolate 

E. None of these 

37. Who among the following belongs to 

Kolkata? 

 A. Vishal B. Tina 

C. Uday D. Mihir 

E. None of these 

38. Which of the following pairs likes 

Pineapple? 

 A. Vishal, Tina B. Jyoti, Tina 

C. Tina, Uday D. Ajay, Mihir 

E. None of these 

39. Which of the following statements 

is/are not true? 

 A. Mihir belongs to Dehradun and 

likes Pineapple. 
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B. Tina likes Chocolate and belongs 

to Raipur. 

C. Jyoti likes Pineapple and belongs 

to Nainital. 

D. All are true 

E. None of these 

40. Which of the following statement 

is/are true? 

 I. Ajay likes Pineapple and belongs 

to Lucknow. 

II. Jyoti does not like Chocolate and 

belongs to Nanital. 

 A. Both I and II B. Either I or II 

C. Only I D. Only II 

E. Neither I nor II 

 

 Directions (41-45): Study the 

following information carefully and 

answer the given questions. 

 P, Q, R, S, T, U, V and W are eight 

friends sitting around a circular table. 

Four of them are facing towards the 

centre and four of them are facing 

away from the centre. All of them like 

a different fruit, viz. Apple, Mango, 

Banana, Avocado, Apricot, Cherry, 

Damson and Plum but not necessarily 

in the same order. 

 T faces towards the centre and likes 

Apple. Both the immediate 

neighbours of T face away from the 

centre and like Banana or Avocado. S 

faces away from the centre. Both the 

immediate neighbours of S do not 

face away from the centre. T sits 

third to the right of U, who likes 

Apricot and faces away from the 

centre. R sits third to the left of U. 

The one who likes Banana sits 

opposite to U. The one who likes 

Mango is not the immediate 

neighbour of U and faces away from 

the centre. P sits second to the left of 

R and does not like Damson or Plum. 

The one who likes Damson sits 

between W and U. Q faces away from 

the centre and does not like Mango. 

41.  Who among the following sits third to 

the right of V? 

 A. P B. Q 

C. R D. S 

E. U 

42. Which of the following combinations 

is true? 

 A. P – Apricot B. Q – Avocado 

C. V – Damson D. U – Banana 

E. None of these 

43. If all the people are made to sit in 

alphabetical order, in clockwise 

direction, starting from P, the 

position of who amongst the 

following remains the same? 

(excluding P) 

 A. S B. T 

C. V D. W 

E. None of these 

44. Who among the following likes 

Cherry? 

 A. W B. P 

C. R D. S 

E. None of these 

45. Which of the following statements is 

true about W? 

 A. He sits second to the left of U. 

B. He sits third to the left of Q. 

C. He likes either Mango or banana. 

D. V and U are his immediate 

neighbours. 

E. His neighbours likes Apple and 

Damson. 
 

 Direction (46-50): Study the 

following information carefully and 

answer the questions given beside: 

 Eight persons – A, B, C, D, E, F, H 

and I sitting around a square table 

such that four persons are sitting at 

the corner side of the table while 

remaining four sit in the middle of the 

sides of the table facing inside the 

centre but not necessarily same 

order. Each of them belongs to a 

different country and have different 

hobbies. They buy mobile phones of 

a different company. 

 F sits 3rd to the right of C, who is an 

immediate neighbour of the one who 

belongs to Sri lanka. D whose hobby 

is playing basketball buys spice 

company mobile phone. There is one 

person sitting between the person 

who belongs to Iran and the one who 

belongs to England. B whose hobby 

is to play baseball sits immediately 

next of F whose not hobby is to play 

cricket. The one who belongs to India 
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sits faces the person who belongs to 

China who buys Nokia company 

mobile phone. The person who 

belongs to France buys spice 

company phone and sits faces B who 

does not buy Vivo company mobile 

phone. E whose hobby is to play 

hockey sits 3rd to right of the person 

who belongs to America who is 

immediate neighbour of H. The 

person whose hobby is to play tennis 

is not immediate neighbour of B. The 

person who belongs to Russia sits 

immediate to right of A whose hobby 

is to play Football and buys Oneplus 

company mobile phone. C buys Nokia 

company mobile phone and sits 

immediately to the left of the person 

who buys Samsung company mobile 

phone. The person who belongs to 

America whose hobbies is to play 

baseball sits 2nd to the left of A. The 

one whose hobby is singing buys i-

phone. There is one person sitting 

between the person whose hobby is 

to play kabbadi and the one whose 

hobby is to play Tennis. The person 

whose hobby is to play cricket sits 3rd 

to the right of the person who buys 

Micromax company mobile phone. 

The person who buys Vivo company 

mobile phone does not sit next to B 

who is an immediate neighbour of the 

person whose hobby is Kabbadi. The 

person who belongs to England is not 

neighbour of the person who belongs 

to India who is not neighbour of the 

person whose hobby is to play 

Kabbadi. Only one person who buys 

Apple company mobile phone.  

46.  Who is the person following the one 

whose hobby is playing tennis? 

 A. F B. I 

C. D D. E 

E. C 

47. Which of the following country sits 

immediately to left of the person who 

belongs to India? 

 A. England B. Iran 

C. Russia D. France 

E. Srilanka 

48. Who is the following person exactly 

opposite the one who belongs to 

Srilanka? 

 A. H B. E 

C. C D. I 

E. F 

49. How many persons are there 

between I and F when counted 

anticlock wise from F? 

 A. TWO B. FOUR 

C. THREE D. FIVE 

E. NONE 

50. If football related basketball, baseball 

related football then cricket related to 

which game? 

 A. Basketball B. Baseball 

C. Kabbadi D. Tennis 

E. None of these 
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ANSWERS 
 

1. Ans. D.  

 
P(96000) > T(93000) > Q(91000) > 

M(88000) > R(86000) > S(84000) > 

N(81000) > O(71000) 

2. Ans. B.  

 
P(96000)>T(93000)>Q(91000)>M(

88000)>R(86000)>S(84000)>N(81

000)>O(71000) 

3. Ans. B.  

 
P(96000)>T(93000)>Q(91000)>M(

88000)>R(86000)>S(84000)>N(81

000)>O(71000) 

 

4. Ans. A.  

 
P(96000)>T(93000)>Q(91000)>M(

88000)>R(86000)>S(84000)>N(81

000)>O(71000) 

5. Ans. E.  

 
P(96000)>T(93000)>Q(91000)>M(

88000)>R(86000)>S(84000)>N(81

000)>O(71000) 

6. Ans. D.  

M sits second to the left of L. 
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7. Ans. B.  

P sits exactly between Q and R. 

 
8. Ans. E.  

T, Q and R, S sit middle of the table and 

faces each other. 

 
9. Ans. C.  

There are two persons P and Q between 

R and K when counted in anticlockwise 

direction from K. 

 
10. Ans. B.  

K does not face Centre but if K is made 

to face the opposite direction that means 

K is face towards the Centre, then Q will 

sit to his immediate right. 

T, Q and R, S sit middle of the table and 

faces each other.  

 
11. Ans. D.  

M sits second to the left of L. 

 
12. Ans. B.  

P sits exactly between Q and R. 

 
13. Ans. E.  

T, Q and R, S sit middle of the table and 

faces each other. 

 
14. Ans. C.  

There are two persons P and Q between 

R and K when counted in anticlockwise 

direction from K. 
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15. Ans. B.  

K does not face Centre but if K is made 

to face the opposite direction that means 

K is face towards the Centre, then Q will 

sit to his immediate right. 

T, Q and R, S sit middle of the table and 

faces each other.  

 
16. Ans. D.  

 
17. Ans. C.  

 
18. Ans. D.  

 
 

19. Ans. A.  

 
20. Ans. A.  

 
21. Ans. A.  

1. Virat sits third to the right of 

Sehwag.  

2. Sehwag faces Flintoff and Flintoff does 

not sit at any of the extreme ends of the 

lines.  

3. Bhubhneshwar and Piyush do not sit 

at the extreme ends of the lines. 

4. The one facing Eshan sits third to the 

right of Piyush. 

5. Rohit faces Eshan. 

6. Dhoni sits third to the right of 

Chandrapaul. 

7. Tahir is not an immediate neighbour 

of Sehwag and Flintoff is not an 

immediate neighbour of Dhoni. 

Tahir 

 
22. Ans. B.  

1. Virat sits third to the right of 

Sehwag.  

2. Sehwag faces Flintoff and Flintoff does 

not sit at any of the extreme ends of the 

lines.  

3. Bhubhneshwar and Piyush do not sit 

at the extreme ends of the lines. 

4. The one facing Eshan sits third to the 

right of Piyush. 

5. Rohit faces Eshan. 

6. Dhoni sits third to the right of 

Chandrapaul. 
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7. Tahir is not an immediate neighbour 

of Sehwag and Flintoff is not an 

immediate neighbour of Dhoni. 

Tahir 

 
23. Ans. B.  

1. Virat sits third to the right of 

Sehwag.  

2. Sehwag faces Flintoff and Flintoff does 

not sit at any of the extreme ends of the 

lines.  

3. Bhubhneshwar and Piyush do not sit 

at the extreme ends of the lines. 

4. The one facing Eshan sits third to the 

right of Piyush. 

5. Rohit faces Eshan. 

6. Dhoni sits third to the right of 

Chandrapaul. 

7. Tahir is not an immediate neighbour 

of Sehwag and Flintoff is not an 

immediate neighbour of Dhoni. 

Tahir 

 
24. Ans. B.  

Sehwag  

 
25. Ans. C.  

Three 

 
26. Ans. B.  

EAG 

Solution: 

D likes Chemistry and studies in 

Standard VIII with only H. E and A study 

in the same Standard but not with B. B 

does not study in Standard VII. C and F 

study in the same Standard. 

 
Therefore, G studies in standard VII. 

 
Those who study in Standard VI do not 

like Mathematics or Biology. F likes 

Physics. The one who studies in 

Standard VIII likes English. C does not 

like Geography. A's favorite subject is 

Marathi and G does not like Biology. 

 
(Final Arrangement) 
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27. Ans. C.  

G-VII-Math 

Solution: 

D likes Chemistry and studies in 

Standard VIII with only H. E and A study 

in the same Standard but not with B. B 

does not study in Standard VII. C and F 

study in the same Standard. 

 
Therefore, G studies in standard VII. 

 
Those who study in Standard VI do not 

like Mathematics or Biology. F likes 

Physics. The one who studies in 

Standard VIII likes English. C does not 

like Geography. A's favorite subject is 

Marathi and G does not like Biology. 

 
(Final Arrangement) 

28. Ans. D.  

Economics 

Solution: 

D likes Chemistry and studies in 

Standard VIII with only H. E and A study 

in the same Standard but not with B. B 

does not study in Standard VII. C and F 

study in the same Standard. 

 
Therefore, G studies in standard VII. 
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Those who study in Standard VI do not 

like Mathematics or Biology. F likes 

Physics. The one who studies in 

Standard VIII likes English. C does not 

like Geography. A's favorite subject is 

Marathi and G does not like Biology. 

 
(Final Arrangement) 

29. Ans. A.  

VI 

Solution: 

D likes Chemistry and studies in 

Standard VIII with only H. E and A study 

in the same Standard but not with B. B 

does not study in Standard VII. C and F 

study in the same Standard. 

 
Therefore, G studies in standard VII. 

 
Those who study in Standard VI do not 

like Mathematics or Biology. F likes 

Physics. The one who studies in 

Standard VIII likes English. C does not 

like Geography. A's favorite subject is 

Marathi and G does not like Biology. 

 
(Final Arrangement) 
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30. Ans. C.  

English 

Solution: 

D likes Chemistry and studies in 

Standard VIII with only H. E and A study 

in the same Standard but not with B. B 

does not study in Standard VII. C and F 

study in the same Standard. 

 
Therefore, G studies in standard VII. 

 
Those who study in Standard VI do not 

like Mathematics or Biology. F likes 

Physics. The one who studies in 

Standard VIII likes English. C does not 

like Geography. A's favorite subject is 

Marathi and G does not like Biology. 

 
(Final Arrangement) 

31. Ans. B.  

In this question we have three case, but 

we take here only right case, you have 

to take three cases first then after 

solving whole question two cases will be 

wrong. In this we have to give intention 

on every month’s days, odd even month 

etc. 

1) Q will attend the meeting on either 

27th August or 27th December. 

2) There is only one person will attend 

the meeting between Q and T. 

3) There are two persons will attend the 

meeting between the T and R. 

 
I clear the order of dates month first 

take all august dates after that 

December dates because after august 

December comes. Such as if we make sit 

T multinational company on 21st of 

august and then in the question we have 

to provide that there is only one gap 

between T and Q so first count all the 

dates of august and after that December 

dates. 

4) There is one person will attend the 

meeting between the R and S. 
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5) S will attend the meeting on 23th of 

any month either December or August. 

6) Only one person will attend the 

meeting between S and W. 

 
7) There are as many as the person will 

attend the meeting between W and Y as 

between Y and Z. 

8) X will not attend the meeting on 21st 

of August. 

 
So here we have completed the whole 

arrangement. Hence, Q will attend the 

meeting on 27th august. 

32. Ans. C.  

In this question we have three case, but 

we take here only right case, you have 

to take three cases first then after 

solving whole question two cases will be 

wrong. In this we have to give intention 

on every month’s days, odd even month 

etc. 

1) Q will attend the meeting on either 

27th August or 27th December. 

2) There is only one person will attend 

the meeting between Q and T. 

3) There are two persons will attend the 

meeting between the T and R. 

 
I clear the order of dates month first 

take all august dates after that 

December dates because after august 

December comes. Such as if we make sit 

T multinational company on 21st of 

august and then in the question we have 

to provide that there is only one gap 

between T and Q so first count all the 

dates of august and after that December 

dates. 

4) There is one person will attend the 

meeting between the R and S. 

5) S will attend the meeting on 23th of 

any month either December or August. 

6) Only one person will attend the 

meeting between S and W. 

 
7) There are as many as the person will 

attend the meeting between W and Y as 

between Y and Z. 

8) X will not attend the meeting on 21st 

of August. 

 
So here we have completed the whole 

arrangement. Hence, 3 persons are 

between R and W. 

33. Ans. E.  

In this question we have three case, but 

we take here only right case, you have 

to take three cases first then after 

solving whole question two cases will be 

wrong. In this we have to give intention 

on every month’s days, odd even month 

etc. 

1) Q will attend the meeting on either 

27th August or 27th December. 

2) There is only one person will attend 

the meeting between Q and T. 

3) There are two persons will attend the 

meeting between the T and R. 

 
I clear the order of dates month first 

take all august dates after that 

December dates because after august 

December comes. Such as if we make sit 

T multinational company on 21st of 

august and then in the question we have 

to provide that there is only one gap 

between T and Q so first count all the 

dates of august and after that December 

dates. 
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4) There is one person will attend the 

meeting between the R and S. 

5) S will attend the meeting on 23th of 

any month either December or August. 

6) Only one person will attend the 

meeting between S and W. 

 
7) There are as many as the person will 

attend the meeting between W and Y as 

between Y and Z. 

8) X will not attend the meeting on 21st 

of August. 

 
So here we have completed the whole 

arrangement. Hence, W will attend 

meeting on 31st December. 

34. Ans. A.  

In this question we have three case, but 

we take here only right case, you have 

to take three cases first then after 

solving whole question two cases will be 

wrong. In this we have to give intention 

on every month’s days, odd even month 

etc. 

1) Q will attend the meeting on either 

27th August or 27th December. 

2) There is only one person will attend 

the meeting between Q and T. 

3) There are two persons will attend the 

meeting between the T and R. 

 
I clear the order of dates month first 

take all august dates after that 

December dates because after august 

December comes. Such as if we make sit 

T multinational company on 21st of 

august and then in the question we have 

to provide that there is only one gap 

between T and Q so first count all the 

dates of august and after that December 

dates. 

4) There is one person will attend the 

meeting between the R and S. 

5) S will attend the meeting on 23th of 

any month either December or August. 

6) Only one person will attend the 

meeting between S and W. 

 
7) There are as many as the person will 

attend the meeting between W and Y as 

between Y and Z. 

8) X will not attend the meeting on 21st 

of August. 

 
So here we have completed the whole 

arrangement. Hence, Y will be related to 

X. 

35. Ans. A.  

In this question we have three case, but 

we take here only right case, you have 

to take three cases first then after 

solving whole question two cases will be 

wrong. In this we have to give intention 

on every month’s days, odd even month 

etc. 

1) Q will attend the meeting on either 

27th August or 27th December. 

2) There is only one person will attend 

the meeting between Q and T. 

3) There are two persons will attend the 

meeting between the T and R. 

 
I clear the order of dates month first 

take all august dates after that 

December dates because after august 

December comes. Such as if we make sit 

http://www.gradeup.com/
http://bit.ly/33V8Wfg


www.gradeup.co 

 

 
17 

 

T multinational company on 21st of 

august and then in the question we have 

to provide that there is only one gap 

between T and Q so first count all the 

dates of august and after that December 

dates. 

4) There is one person will attend the 

meeting between the R and S. 

5) S will attend the meeting on 23th of 

any month either December or August. 

6) Only one person will attend the 

meeting between S and W. 

 
7) There are as many as the person will 

attend the meeting between W and Y as 

between Y and Z. 

8) X will not attend the meeting on 21st 

of August. 

 
So here we have completed the whole 

arrangement. Hence, X will have 

meeting on 27th December, 2017. 

36. Ans. E.  

Let's draw confirm conditions first: 

Seven friends- Tina, Uday, Vishal, Ajay, 

Mihir, Rishit and Jyoti. 

They belong to seven different cities, viz 

Jaipur, Nainital, Chandigarh, Kolkata, 

Lucknow, Raipur and Dehradun. 

They all like four different flavours of 

ice-cream, viz Chocolate, Pista, Kesar 

and Pineapple. 

At least one person likes one flavour but 

not more than two like the same flavour. 

● Ajay likes Pineapple. Mihir likes 

Pineapple and belongs to Dehradun. 

● Rishit belongs to Chandigarh and is the 

only person who likes Kesar flavour. 

● The one who belongs to Kolkata does 

not like Chocolate. 

● Vishal likes Pista and Jyoti does not 

belong to Dehradun. 

● The one who belongs to Kolkata likes 

the ice-cream which is liked by the one 

who belongs to Jaipur. 

● The one who belongs to Lucknow likes 

Pineapple. 

● Tina likes Chocolate. Uday belongs 

neither to Nanital nor to Jaipur. 

● The one who belongs to Raipur likes 

Chocolate. 

● The one who belongs to Nanital likes 

the same Ice-cream which is liked by 

Tina. 

● Vishal does not belong to Lucknow. 

After putting all the confirm conditions at 

their places we get: 

 
37. Ans. A.  

Let's draw confirm conditions first: 

Seven friends- Tina, Uday, Vishal, Ajay, 

Mihir, Rishit and Jyoti. 

They belong to seven different cities, viz 

Jaipur, Nainital, Chandigarh, Kolkata, 

Lucknow, Raipur and Dehradun. 

They all like four different flavours of 

ice-cream, viz Chocolate, Pista, Kesar 

and Pineapple. 

At least one person likes one flavour but 

not more than two like the same flavour. 

● Ajay likes Pineapple. Mihir likes 

Pineapple and belongs to Dehradun. 

● Rishit belongs to Chandigarh and is the 

only person who likes Kesar flavour. 

● The one who belongs to Kolkata does 

not like Chocolate. 

● Vishal likes Pista and Jyoti does not 

belong to Dehradun. 

● The one who belongs to Kolkata likes 

the ice-cream which is liked by the one 

who belongs to Jaipur. 

● The one who belongs to Lucknow likes 

Pineapple. 
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● Tina likes Chocolate. Uday belongs 

neither to Nanital nor to Jaipur. 

● The one who belongs to Raipur likes 

Chocolate. 

● The one who belongs to Nanital likes 

the same Ice-cream which is liked by 

Tina. 

● Vishal does not belong to Lucknow. 

After putting all the confirm conditions at 

their places we get: 

 
38. Ans. D.  

Let's draw confirm conditions first: 

Seven friends- Tina, Uday, Vishal, Ajay, 

Mihir, Rishit and Jyoti. 

They belong to seven different cities, viz 

Jaipur, Nainital, Chandigarh, Kolkata, 

Lucknow, Raipur and Dehradun. 

They all like four different flavours of 

ice-cream, viz Chocolate, Pista, Kesar 

and Pineapple. 

At least one person likes one flavour but 

not more than two like the same flavour. 

● Ajay likes Pineapple. Mihir likes 

Pineapple and belongs to Dehradun. 

● Rishit belongs to Chandigarh and is the 

only person who likes Kesar flavour. 

● The one who belongs to Kolkata does 

not like Chocolate. 

● Vishal likes Pista and Jyoti does not 

belong to Dehradun. 

● The one who belongs to Kolkata likes 

the ice-cream which is liked by the one 

who belongs to Jaipur. 

● The one who belongs to Lucknow likes 

Pineapple. 

● Tina likes Chocolate. Uday belongs 

neither to Nanital nor to Jaipur. 

● The one who belongs to Raipur likes 

Chocolate. 

● The one who belongs to Nanital likes 

the same Ice-cream which is liked by 

Tina. 

● Vishal does not belong to Lucknow. 

After putting all the confirm conditions at 

their places we get: 

 
39. Ans. C.  

Let's draw confirm conditions first: 

Seven friends- Tina, Uday, Vishal, Ajay, 

Mihir, Rishit and Jyoti. 

They belong to seven different cities, viz 

Jaipur, Nainital, Chandigarh, Kolkata, 

Lucknow, Raipur and Dehradun. 

They all like four different flavours of 

ice-cream, viz Chocolate, Pista, Kesar 

and Pineapple. 

At least one person likes one flavour but 

not more than two like the same flavour. 

● Ajay likes Pineapple. Mihir likes 

Pineapple and belongs to Dehradun. 

● Rishit belongs to Chandigarh and is the 

only person who likes Kesar flavour. 

● The one who belongs to Kolkata does 

not like Chocolate. 

● Vishal likes Pista and Jyoti does not 

belong to Dehradun. 

● The one who belongs to Kolkata likes 

the ice-cream which is liked by the one 

who belongs to Jaipur. 

● The one who belongs to Lucknow likes 

Pineapple. 

● Tina likes Chocolate. Uday belongs 

neither to Nanital nor to Jaipur. 

● The one who belongs to Raipur likes 

Chocolate. 

● The one who belongs to Nanital likes 

the same Ice-cream which is liked by 

Tina. 

● Vishal does not belong to Lucknow. 
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After putting all the confirm conditions at 

their places we get: 

 
40. Ans. C.  

Let's draw confirm conditions first: 

Seven friends- Tina, Uday, Vishal, Ajay, 

Mihir, Rishit and Jyoti. 

They belong to seven different cities, viz 

Jaipur, Nainital, Chandigarh, Kolkata, 

Lucknow, Raipur and Dehradun. 

They all like four different flavours of 

ice-cream, viz Chocolate, Pista, Kesar 

and Pineapple. 

At least one person likes one flavour but 

not more than two like the same flavour. 

● Ajay likes Pineapple. Mihir likes 

Pineapple and belongs to Dehradun. 

● Rishit belongs to Chandigarh and is the 

only person who likes Kesar flavour. 

● The one who belongs to Kolkata does 

not like Chocolate. 

● Vishal likes Pista and Jyoti does not 

belong to Dehradun. 

● The one who belongs to Kolkata likes 

the ice-cream which is liked by the one 

who belongs to Jaipur. 

● The one who belongs to Lucknow likes 

Pineapple. 

● Tina likes Chocolate. Uday belongs 

neither to Nanital nor to Jaipur. 

● The one who belongs to Raipur likes 

Chocolate. 

● The one who belongs to Nanital likes 

the same Ice-cream which is liked by 

Tina. 

● Vishal does not belong to Lucknow. 

After putting all the confirm conditions at 

their places we get: 

 
41. Ans. D.  

 
42. Ans. C.  

 
43. Ans. B.  
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44. Ans. B.  

 
45. Ans. E.  

 
46. Ans. B.  

F sits 3rd to right of C, who immediately 

neighbour of the one who belongs to Sri 

lanka. 

B whose hobbies plays baseball and sits 

immediately neighbour of F whose not 

hobbies plays cricket 

CASE1 

 
Case2 

 
 

CASE3 

 
CASE 4 

 
The person who belongs to France buy 

spice company phone and exactly 

opposite B who not buy Vivo company 

mobile phone 

CASE 1 

 
CASE 2 
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CASE 3 

 
CASE 4 

 
C buy Nokia company mobile phone and 

immediately to left the person who buy 

samsung company mobile phone 

So, case 3 and 4 not follow. 

D whose hobbies plays basketball and 

buy spice company mobile phone. 

The one who belongs to India exactly 

opposite the person who belongs to 

china who buy Nokia company mobile 

phone. 

The person who belongs to Russia sits 

immediately to right of A whose hobbies 

plays Football and buy oneplus company 

mobile phone. 

The person who belongs to America 

whose hobbies plays baseball sits 2nd to 

left of A. 

CASE 1 

 

CASE 2 

 
E whose hobbies is plays hockey sits 

3rd to right the person who belongs to 

America who immediately neighbour of 

H 

There is one person sits between the 

person who belongs to Iran and the one 

who belongs to England, So case 2 not 

follow. 

The one whose hobbies singing also buy 

i-phone company mobile phone. 

There is one person sits between the 

person whose hobbies plays kabbadi and 

the one whose hobbies plays Tennis. 

The person whose hobbies plays cricket 

sits 3rd to right of the person who buy 

micromax company mobile phone. 

The person who buy Vivo company 

mobile phone not immediately of B who 

immediately neighbour of the person 

whose hobbies is Kabbadi. 

The person who belongs to England not 

to neighbour of the person who belongs 

to India who not neighbour of the person 

whose hobbies plays Kabbadi. The one 

person buy Apple company mobile 

phone. 

 
47. Ans. B.  

F sits 3rd to right of C, who immediately 

neighbour of the one who belongs to Sri 

lanka. 

B whose hobbies plays baseball and sits 

immediately neighbour of F whose not 

hobbies plays cricket 
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CASE1 

 
Case2 

 
CASE3 

 
CASE 4 

 
The person who belongs to France buy 

spice company phone and exactly 

opposite B who not buy Vivo company 

mobile phone 

 

CASE 1 

 
CASE 2 

 
CASE 3 

 
CASE 4 

 
C buy Nokia company mobile phone and 

immediately to left the person who buy 

samsung company mobile phone 

So, case 3 and 4 not follow. 
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D whose hobbies plays basketball and 

buy spice company mobile phone. 

The one who belongs to India exactly 

opposite the person who belongs to 

china who buy Nokia company mobile 

phone. 

The person who belongs to Russia sits 

immediately to right of A whose hobbies 

plays Football and buy oneplus company 

mobile phone. 

The person who belongs to America 

whose hobbies plays baseball sits 2nd to 

left of A. 

CASE 1 

 
CASE 2 

 
E whose hobbies is plays hockey sits 

3rd to right the person who belongs to 

America who immediately neighbour of 

H 

There is one person sits between the 

person who belongs to Iran and the one 

who belongs to England, So case 2 not 

follow. 

The one whose hobbies singing also buy 

i-phone company mobile phone. 

There is one person sits between the 

person whose hobbies plays kabbadi and 

the one whose hobbies plays Tennis. 

The person whose hobbies plays cricket 

sits 3rd to right of the person who buy 

micromax company mobile phone. 

The person who buy Vivo company 

mobile phone not immediately of B who 

immediately neighbour of the person 

whose hobbies is Kabbadi. 

 

The person who belongs to England not 

to neighbour of the person who belongs 

to India who not neighbour of the person 

whose hobbies plays Kabbadi. The one 

person buy Apple company mobile 

phone. 

 
48. Ans. E.  

F sits 3rd to right of C, who immediately 

neighbour of the one who belongs to Sri 

lanka. 

B whose hobbies plays baseball and sits 

immediately neighbour of F whose not 

hobbies plays cricket 

CASE1 

 
Case2 

 
CASE3 
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CASE 4 

 
The person who belongs to France buy 

spice company phone and exactly 

opposite B who not buy Vivo company 

mobile phone 

CASE 1 

 
CASE 2 

 
CASE 3 

 
 

 

CASE 4 

 
C buy Nokia company mobile phone and 

immediately to left the person who buy 

samsung company mobile phone 

So, case 3 and 4 not follow. 

D whose hobbies plays basketball and 

buy spice company mobile phone. 

The one who belongs to India exactly 

opposite the person who belongs to 

china who buy Nokia company mobile 

phone. 

The person who belongs to Russia sits 

immediately to right of A whose hobbies 

plays Football and buy oneplus company 

mobile phone. 

The person who belongs to America 

whose hobbies plays baseball sits 2nd to 

left of A. 

CASE 1 

 
CASE 2 

 
E whose hobbies is plays hockey sits 

3rd to right the person who belongs to 

America who immediately neighbour of 

H 
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There is one person sits between the 

person who belongs to Iran and the one 

who belongs to England, So case 2 not 

follow. 

The one whose hobbies singing also buy 

i-phone company mobile phone. 

There is one person sits between the 

person whose hobbies plays kabbadi and 

the one whose hobbies plays Tennis. 

The person whose hobbies plays cricket 

sits 3rd to right of the person who buy 

micromax company mobile phone. 

The person who buy Vivo company 

mobile phone not immediately of B who 

immediately neighbour of the person 

whose hobbies is Kabbadi. 

The person who belongs to England not 

to neighbour of the person who belongs 

to India who not neighbour of the person 

whose hobbies plays Kabbadi. The one 

person buy Apple company mobile 

phone. 

 
49. Ans. C.  

F sits 3rd to right of C, who immediately 

neighbour of the one who belongs to Sri 

lanka. 

B whose hobbies plays baseball and sits 

immediately neighbour of F whose not 

hobbies plays cricket 

CASE1 

 
Case2 

 

CASE3 

 
CASE 4 

 
The person who belongs to France buy 

spice company phone and exactly 

opposite B who not buy Vivo company 

mobile phone 

CASE 1 

 
CASE 2 

 
CASE 3 
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CASE 4 

 
C buy Nokia company mobile phone and 

immediately to left the person who buy 

samsung company mobile phone 

So, case 3 and 4 not follow. 

D whose hobbies plays basketball and 

buy spice company mobile phone. 

The one who belongs to India exactly 

opposite the person who belongs to 

china who buy Nokia company mobile 

phone. 

The person who belongs to Russia sits 

immediately to right of A whose hobbies 

plays Football and buy oneplus company 

mobile phone. 

The person who belongs to America 

whose hobbies plays baseball sits 2nd to 

left of A. 

CASE 1 

 
CASE 2 

 
E whose hobbies is plays hockey sits 

3rd to right the person who belongs to 

America who immediately neighbour of 

H 

 

There is one person sits between the 

person who belongs to Iran and the one 

who belongs to England, So case 2 not 

follow. 

The one whose hobbies singing also buy 

i-phone company mobile phone. 

There is one person sits between the 

person whose hobbies plays kabbadi and 

the one whose hobbies plays Tennis. 

The person whose hobbies plays cricket 

sits 3rd to right of the person who buy 

micromax company mobile phone. 

The person who buy Vivo company 

mobile phone not immediately of B who 

immediately neighbour of the person 

whose hobbies is Kabbadi. 

The person who belongs to England not 

to neighbour of the person who belongs 

to India who not neighbour of the person 

whose hobbies plays Kabbadi. The one 

person buy Apple company mobile 

phone. 

 
50. Ans. B.  

F sits 3rd to right of C, who immediately 

neighbour of the one who belongs to Sri 

lanka. 

B whose hobbies plays baseball and sits 

immediately neighbour of F whose not 

hobbies plays cricket 

CASE1 
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Case2 

 
CASE3 

 
CASE 4 

 
The person who belongs to France buy 

spice company phone and exactly 

opposite B who not buy Vivo company 

mobile phone 

CASE 1 

 
CASE 2 

 

CASE 3 

 
CASE 4 

 
C buy Nokia company mobile phone and 

immediately to left the person who buy 

samsung company mobile phone 

So, case 3 and 4 not follow. 

D whose hobbies plays basketball and 

buy spice company mobile phone. 

The one who belongs to India exactly 

opposite the person who belongs to 

china who buy Nokia company mobile 

phone. 

The person who belongs to Russia sits 

immediately to right of A whose hobbies 

plays Football and buy oneplus company 

mobile phone. 

The person who belongs to America 

whose hobbies plays baseball sits 2nd to 

left of A. 

CASE 1 

 
 

 

http://www.gradeup.com/
http://bit.ly/33V8Wfg


www.gradeup.co 

 

 
28 

 

CASE 2 

 
E whose hobbies is plays hockey sits 

3rd to right the person who belongs to 

America who immediately neighbour of 

H 

There is one person sits between the 

person who belongs to Iran and the one 

who belongs to England, So case 2 not 

follow. 

The one whose hobbies singing also buy 

i-phone company mobile phone. 

There is one person sits between the 

person whose hobbies plays kabbadi and 

the one whose hobbies plays Tennis. 

The person whose hobbies plays cricket 

sits 3rd to right of the person who buy 

micromax company mobile phone. 

The person who buy Vivo company 

mobile phone not immediately of B who 

immediately neighbour of the person 

whose hobbies is Kabbadi. 

The person who belongs to England not 

to neighbour of the person who belongs 

to India who not neighbour of the person 

whose hobbies plays Kabbadi. The one 

person buy Apple company mobile 

phone. 
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